Arbeitsblatt Nr. Datum:

Name: Klasse:

Aufgabe 1a:

Xy o=arcsin(0,45)
X00=0,467

Xo1=Xoot2 T
X01=6,750

X10=7 —Xqo
X10=2,675

X1 1=X0— 127

X, ;=—3,608

Aufgabe 1b:
Xy o=arcsin(0,9)
X00=1,120
Xo1=Xoot2 T
Xo1=7,403
X10=7 —Xqp
X, 0=2,021
X11=X0+2 7

X,,=8,305

Lésungen

Fach:

Trigonometrische Gleichungen

()DOO Jirka Veissgarber


http://creativecommons.org/licenses/by-nc-sa/3.0/de/

Arbeitsblatt Nr. Datum:

Name: Klasse:

Aufgabe 1c:

Xy o=arcsin(—0,3)
Xo,0=—0,305

Xo1=Xoot2 T
X01=5,978

Xo2=Xgot2:27
X0,=12,262

X10=7 —Xgg
X10=3,446

X11=X1 0427

X1,=9,729

Lésungen

Fach:

Trigonometrische Gleichungen

()DOO Jirka Veissgarber
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